Bridge at the Lunatic Fringe --  Number   25 – 

IMPs vs. Matchpoints
Some very fine players will tell you that duplicate bridge is a totally different game when scored at matchpoints versus IMPs or rubber bridge.  This is certainly an exaggeration, since the mechanics of the game are unchanged;  and bidding methods and techniques of play generally apply to either method of scoring.

Yet there are significant differences in strategy, and matchpoint scoring surely presents a much more difficult challenge.  The two scoring methods imply different objectives during the play of the hand.

 In IMP scoring, as declarer your objective is generally clear cut:  Make your contract:  

If the contract is a good one, and requires only normal breaks, play as safely as possible.  Overtricks are unimportant.
If the contract is shaky or doubtful, take chances;  play for whatever holding of the opponents’ cards will enable you to succeed, no matter how unlikely.

Likewise, when defending at IMPs, go all out to defeat the contract.

With matchpoint scoring, the objective either declaring or defending is to do better than the pairs who hold the same cards when the hand is replayed at other tables.  In bidding, this leads to close doubles of partscore contracts, unheard of in IMP scoring.
Good matchpoint players talk of “the magic 200”, since 200 beats the common partscores in the range of 110 to 170.  When the opponents are vulnerable, beating them one trick for +100 is not a good result when your side could be making a partscore for 110 or more.  But +200 is likely to be a very good result.  Hence the close doubles.
In the play, as overtricks are very important, a good declarer may even jeopardize a contract to go after them.  Defenders likewise often have a difficult judgment to decide that defeating a contract is not likely, but must instead focus on limiting overtricks. 
In determining how much risk to take, declarer often has to make a judgment about what the rest of the field will be doing on a particular deal.  Two issues are particularly important:

1. Is the contract normal?  If yes, declarer may still take some prudent risks to try to beat the field.  But if the contract is unusual, declarer must go all out to try to beat the field, taking great risk if necessary.

2. Has the defense been effective against you, opening lead in particular.  If the defense has been especially good, you may need to take extra risks to make up ground.  If on the other hand, the defense has been sloppy (perhaps a gift on the opening lead), then you can afford to play conservatively, since you’re already ahead of the game.

Following is an example… a hand played by Minna when she was new to duplicate (matchpoint) bridge, and did not understand these subtleties.  Instead, she believed based on her rubber bridge experience, that making the contract was always paramount.
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NS Vulnerable.  The bidding:

S (Minna)
W(Prof L)
N(Majorca)
E(Warren)





Pass

Pass

1NT

Pass

3NT

All Pass

Even with the five card major suit, Minna elected the 1NT opening, and Majorca, with a perfectly flat 4-3-3-3, raised to 3NT, not exploring for a major suit fit.  Thus the partnership failed to find their 9-card spade fit.  It happens.
The play was not very difficult, or for that matter very interesting, except for the match-point implications.

The professor led a fourth-best (4, on which Warren played the Jack as   Minna won with the King.  She now forced out the ♠A, won by Warren, who continued diamonds.  The professor followed with the deuce, so that surely looked like an original 5 card holding.
Minna could now count 9 winners…  four spades, two hearts, two diamonds and a club.

She could see the possibility of a club finesse, which if it worked would have her making 5.  But if the finesse lost, she would likely lose 5 trics, the ♠A, the ♣K, and 3 diamond tricks…  for down 1 in an ice-cold contract.  So she eschewed the finesse, and settled for making 3.  
In the post-mortem, the professor gently helped Minna to understand the implications of matchpoint scoring:  surely many pairs in the room would find their way to a Four Spade contract, either with a 1♠ opening bid or thru use of Stayman following a 1NT opening.
In that contract, declarer would not be concerned with diamond losers, and so would be able to take the club finesse with impunity, making 4 or 5.  Thus taking the club finesse was absolutely indicated.  If it won, she would beat out the 4♠ contracts, and if it lost she would get the same terrible matchpoint result as 3NT making 3.  As it was, 3 NT making 3 salvaged half a matchpoint, as she tied for bottom with one other pair.

